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QUESTION 48
Which two use cases are supported by Meraki APIs? (Choose two.)

Retrieve live streams from a Meraki Camera.

Build a custom Captive Portal for Mobile Apps.

Configure network devices via the Dashboard API.

Build location-aware apps from Wi-Fi and LoRaWAN devices.
Deploy applications onto the devices.

moowy

Correct Answer: BC

QUESTION 49
Which principle is a value from the manifesto for Agile software development?

A. adhering to a plan over responding to requirements
B. detailed documentation over working software

C. processes and tools over teams and inter actions
D. customer collaboration over contract negotiation

Correct Answer: D

QUESTION 50
Which is an advantage of using network programmability?

A. ltremoves CLI access for devices.

B. It provides for more scalable and replicable network provisioning.
C. Manual configuration is faster.

D. No cloud abstraction occurs.

Correct Answer: B

QUESTION 51
What are two advantages of version control software? (Choose two.)

It supports tracking and comparison of changes in binary formate files.

It allows old versions of packaged applications to be hosted on the Internet
It provides wiki collaboration software for documentation.

It supports comparisons between revisions of source code files.

It allows new team members to access the current code and history.

moowy

Correct Answer: DE
QUESTION 52
What is the outcome of executing this command?
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git clone ssh://john@exmaple.com/path/to/my-project_git

A. Creates a local copy of a repository called "my project”
B. Creates a copy of a branch called "my project"

C. Initiates a new Git repository called "my project”

D. Creates a new branch called "my project”

Correct Answer: A

QUESTION 53
Refer to the exhibit.

lue is not ylnﬂ -_ f @ .
raise valueError("single_request timeout must be p
self -_stng].e_reque:st_tﬁn'e_wt = walue

[ def wait_on_rate_limit{self):
i “*“automatic rate-limit handling.

The output of a unified diff when comparing two versions of a python script is shown. Which two
"single_ request _ timeout ()"
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A. Option A
B. Option B
C. OptionC
D. OptionD

Correct Answer: BC

QUESTION 54
Which platform has an API that be used to obtain a list of vulnerable software on user devices?

A. Cisco Umbrella

B. Cisco Firepower

C. Cisco Identity Services Engine

D. Cisco Advanced Malware Protection

Correct Answer: D

QUESTION 55
When a Cisco |I0S XE networking device is configured using RESTCONF, what is the default
data-encoding method?

A. XML
B. x-form-encoding
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C. YANG
D. YAML

Correct Answer: A

QUESTION 56
Which task is performed because the test-driven development approach is being used?

A. testing existing software before developing new code

B. refactoring code that is covered by existing tests

C. writing code without committing any coding violations

D. creating test scenarios based on continuous development

Correct Answer: B

QUESTION 57

Refer to the exhibit. The python interpreter and the Cisco python SDK are available by default in
the Cisco NX-OS software. The SDK documentation shows how the cild() API can be used when
working with working with JSON and XML. What are two effect of running the script? (Choose
two.)

For CLI commands that support XML, the clid() method returns JSON output. An exception is thrown when XML is not
used. Executes CLI commands. Takes CLI command string and returns show command cutput in a JSON form.

i

Note: The “clid” API can be useful when searching the output of show commands using JSON tools as shown in the example.

PYTHON

Arguments:

* ¢cmd: Single CLI command or a batch of CLI commands. Delimeter for multiple CLI commands
is a space followed by a semicolon. Configuration commands must be in a fully qualified form.

Returns:

* string: JSON-formatted output of show commands.
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>>> from cli import *
>>> import json

>>>
>>> cli(‘configure terminal ; interface loopback 5 ; no shut’)

A

>>> intflist=json.loads(clid(‘show interface brief’))
>>> i=0
>>> while i < len (intflist[‘TABLE interface’]['ROW_interface’]):
een intf=intflist['TABLE interface’] ['ROW_interface’] [i]
s i=i+l
s if intf[‘'state’] == ‘up’:
print intf[‘interface’]

configure interlace loopback 5

issue shutdown on interface loopback 5
show only the interfaces In the up status
show only the interfaces in admin shut status
show details for the TABLE interface

moow»

Correct Answer: AC

QUESTION 58
Refer to the exhibit. Which two statements about the network diagram are true? (Choose two.)

192.168.1.0/24

S

PC-A and PC-B are in the same subnet.

One of the routers has two connected serial interfaces.

The subnet of PC-C can contain 256 hosts.

R1 and R3 are in the same subnet.

The subnet address of PC-B has 18 bits dedicated to the network portion.
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